THEO POUF ASSEMBLY INSTRUCTIONS
THEO PUF MONTAJ TALIMATI
THEO POUF INSTRUCTIONS DE MONTAGE
THEO PUFF INSTRUCCIONES DE MONTAIJE
THEO HOCKER MONTAGEANLEITUNG

'

A!
B
fo)
1 , A' -,
[ \ O
A
B' B
5 ol " -
= \
@)
)
A
A = |B C
ACCESSORY
AKSESUAR
ACCESSOIRE FOOT STUD BOLT BOLT FOOT STOPPER
ACCESORIOS |AYAK SAPLAMA M6X25 CIVATA YKB M8x120 |AvAK TIPA
= PIED DE CANAPE| GOUJON FILETES BOULON BOUCHON POUR PIEDS
ZUBEHOR PIE DE SOFA TORNILLO DOBLE ROScA | PERNO TAPON PARA PIES
FUSS STIFTSCHRAUBE SCHRAUBE FUSSSTOPFEN
Quantity
Miktar-Quantite 4 4 4 4
Cantidad-Menge



AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
AYAK

AutoCAD SHX Text
FOOT

AutoCAD SHX Text
PIED DE CANAPE

AutoCAD SHX Text
PIE DE SOFA

AutoCAD SHX Text
FUSS

AutoCAD SHX Text
CIVATA YKB M8x120

AutoCAD SHX Text
BOLT

AutoCAD SHX Text
AYAK TIPA

AutoCAD SHX Text
BOULON

AutoCAD SHX Text
PERNO

AutoCAD SHX Text
SCHRAUBE 

AutoCAD SHX Text
FOOT STOPPER

AutoCAD SHX Text
BOUCHON POUR PIEDS

AutoCAD SHX Text
TAPON PARA PIES

AutoCAD SHX Text
FUSSSTOPFEN

AutoCAD SHX Text
SAPLAMA M6X25

AutoCAD SHX Text
STUD BOLT

AutoCAD SHX Text
GOUJON FILETES

AutoCAD SHX Text
TORNILLO DOBLE ROSCA

AutoCAD SHX Text
STIFTSCHRAUBE

AutoCAD SHX Text
4


	Sheets and Views
	Model


